cos(z) = sin (3: | %)

sin(x) cos(x) 1 sin(x) = sin(z + 2km)

tan(z) = cos(x) cot(z) = sin(x) B tan(x) cos(z) = cos(zx + 2km)
_ 1 1 sec(x) = sec(x + 2km)
sec(x) = cos(x) cse(x) = sin() cse(x) = cse(x + 2km)

cot(—x) = —cot(r) cot(F —r)=tan(r) cot(m —1x)= —cot(r)
sec(—r) = +sec(r) sec(Z —zr)=csc(r) sec(m—1r)=—sec(x)
csc(—r) = —csc(r) csc (3 —x) =sec(r) esc(m—1x)=+cse(r)
sin (z+ Z) = +cos(z) sin(z+ 7) = —sin(z)
cos (x+ %) = —sin(z) cos(z + 7) = — cos(z)
tan (z + Z) = —cot(z) tan(z+ ) = + tan(z)
cot (r+ Z) = —tan(z) cot(z+ m) = + cot(x)
sec (x4 Z) = —csc(z) sec(z+ ) = —sec(x)
csc (z+ I) = +sec(x) csc(x+ m) = —csc(x)

tan’(z) + 1 = sec?(x)

cot’(x) + 1 = esc?(x)
sin(x & y) = sin{x) cos(y) £ cos(x)sin(y)
cos(x = y) = cos(x) cos(y) F sin(x) sin(y)

sin(2x) = 2sin(x) cos(x)

1 — tan?(x
cos(2z) = cos?(x) — sin?(x) = 2cos®(x) — 1 = 1 — 2sin*(2) = 14 t:zzgi;

1 + cos(2x)
2

1 — cos(2x)
2

x 1 + cos(x) . [z 1 — cos(zx)
cos()=:|: sm( )=:|:
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cos’(x) = sin®(z) =




cos(x —y) + cos(z + )
2

cos(z) cos(y) =

cos(r —y) —cos(r +y)
2

sin (x)sin (y) =

sin{x — y) + sin{x + y)

sin () cos{y) =

2
r+y Tr—1y
cos(z) + cos(y) = 2cos ( ) cos( )
2 2
. . . Tty Tr—1y
sin(x) + sin(y) = 2sin ( ) cos( )
2 2
(Y . [Ty
cos(x) — cos(y) = —2sin ( ) sin ( )
2 2
: : AN
sin{x) — sin{y) = 2 cos ( ) sin ( )
2 2
e = cos(x) + isin(x) e " = cos(x) — isin(x)
Ei.r + E—i.r Eir _ E—ir
cos(r) = ——— sin(r) = —————
2 21
. sin(x) .1 —cos(x)
lim =1, lim =0,
x—0 x—l) xr
T sin(2) = cos(2)
— sin(z) = cos(z
dr
d _ d S 1
-sinz = COST, —arcsinz = —
g — — ai d _ —1
- CosT = sinz, 4= ArccosT = —
d — 2 . — 1
S-tanx = sec” x, J-arctanz =
d a2 d _ 1
s-cotx = csc’x,  garccotr = 1z
4 secr = tanrsecr, -Larcsecr = !
dr . " iy dr . - 21
L cscx = —cscxcotz, -Larcescx = —
dr . - iy dr . - 21



